
Given,
PMT = Rs. 180,000
Interest rate (I) = 12%
P.VA (perpectual payement) = PMT / i

180,000/0.12
=Rs. 15,00,000

Per year, Each year, Every year, Equal installment = Pmt
Current, Now , past year , deposited, last year = Pv
Accumulated, Will , Will be , future, expected = Fv
F.V = P.V(1+i)^n
P.v = F.v

(1+i)^n

Given,
Quarterly (m) = 3,3,3,3 = 4
Semi-annually (m)= 6,6 = 2
Interest Rate = i/m
No. of year = n*m
Effective annual Interest rate = ( 1+ i/m )^m-1

= (1 + 0.06/4)^4 – 1
= 6.14%

Given,
FVA= Rs.10,00,000
Pmt = Rs. 125,000
Interest (i) = 12%
No. of year (n) = ?
Now,
F.VA = Pmt*FVIFAi%,nyear
F.Va= 125000 (1+i)^n – 1

I



10,00,000 = (1+0.12)^n – 1
125,000 0.12
Or, 8*0.12 = (1.12)^n – 1
Or, 0.96 + 1 = (1.12)^n
Or, 1.96 = (1.12)^n
Or, Taking log on both side
Or, Log1.96 = nlog1.12
Or, Log 1.96 = n

Log1.12
Or, N = 5.93year or 6 year
The number of year is 6 year
For his last deposit of less than 125000
We need a calculation for the 5 years
F.VA = Pmt*FVIFAi%, n year (i+1)

= 125000*FVIFA12%,5year (0.12+1)
= 125000*6.3528 (1.12)
= 8,89,392

Last deposit
10,00,000 – 8,89,392
= Rs.1,10,608

Solution,
Given
F.V = Rs. 100,000



Given,
PVA =Rs.10,00,000 (Loan)
Number of years (n) = 3 years
Interest rate (I) = 10%
PVa = Pmt*PVIFAi%, nyear
10,00,000 = pmt*PVIFA10%, 3 years
Pmt = 10,00,000

2.4869
Pmt = Rs.4,02,107
Annual payment Rs. 3,02,115
Calculation of loan amortization schedule:

Year Beginning
loan

Payment(pmt)
3

Interest(10%)
4

Principal
(3-4=5)

Ending loan
2-5=6

1 10,00,000 4,02,107 1,00,000 3,02,107 6,97,893
2 6,97,893 4,02,107 69789.3 332377.5 3,65,575.3
3 3,65,575.3 4,02,107 36557.53 365549.47 25.83

25.83 is a calculation of rounding error. They will manage it during the settlement process.

c) Fraction of payment represents to the principle for 2 year
Principle
Payment

332377.5
402,107

82.65%

Sakyo sabbai?



Given,
P.V = Rs. 1000 Interest rate (i) = 8% Number of year (n) = 3 year
a) F.V = P.V ( 1+i)^n

= 1000(1+0.08)^3
=Rs. 1259.712

b) F.V = P.V(1+i/4)^n*4
1000(1+0.08/4)^4*3
= Rs.1268.24

c) Pmt = Rs.250
FVA = Pmt*FVIFAi%, n year

= 250* FVIFA8%,4year
=250*4.5061
=Rs. 1126.525

d) Given, PMT = ?
FVA = Rs. 1259.712 interest rate (i) = 8%
FVA= Pmt*FVIFAi%, n year
1259.712 = pmt*FVIFA8%,4 year
Or, 1259.712 = Pmt

4.5061
:Pmt = Rs. 279.55



Given,
FVA = ? Number of year = 5 year Pmt = Rs.400 Interest rate(i) = 7%
Due = ? (1+i)
FVA = PMT*FVIFAi%,nyear (1+i)

= 400*FVIFA7%,5year(1+0.07)
= Rs. 2461.3

Given,
Loan (PVA) = Rs.500000
Number of year(n) = 60month = 5 year
Interest rate (i) = 12% or 12%/12 = 1%
PVA = Pmt*PVIFAi%, Nyear
500000= Pmt*PVIFA1%, 60month
500000 = pmt*

Pmt = Rs. 11,222.23
Effective annua rate = [ 1+(i/m)]^n – 1

= [ 1+(0.12/12)]^12 – 1
= Rs.12.68%



Risk and Return Finance- 15 + 2= 17 Makrs
Fixed
Formula: Session
There are mainly two types of Exam
Historical Data (Year is given)
Probability Data ( % probability or decimal probability given)

Requirements:
Expected / Average return (∑RA) = ∑RA/n ( If There is no probabilty)

= ∑RA*P (If there is probability)





Market return premium (Rm-Rf)



6. Given ,

Given, Beta of stock Y = 1.45

Expected return = 17%

Risk free rate = 6%

Market risk premium (Rm-Rf) = 7.5%

Stock price (p0) = ?

Require rate of return = Rf+(Rm-Rf)*By

6%+(7.5%*1.45)

=16.875%

3) Stock A = 35000 , Stock B = 40,000
Total stock = 75,000
Weight of stock A (Wa) = 35,000/75,000= 0.47
Weight of stock B (Wb) = 40,000/75,000=0.53
Beta coff. Stock A ( 0.8 or Bb= 1.4
Portfolio beta = Wa*Ba+Wb*Bb

= 0.47*0.8+0.53*1.4
= 1.118



Risk-free rate (Rf) = 6%
Market risk premium (Rf-Rm) = 8%
Beta stock j ( ) = 1.5
Rate of return =Rf+ (Rf-Rm)*

= 6% + (8%*1.5)
= 18%

Given .
Stock A = Rs.35,000
Stock B = Rs. 40,000
Total Stock = 75,000
Weight of stock A (Wa) = 35,000 Weight of stock B (Wb) = 40,000

75,000 75,000
= 46.67 = 53.33

Beta coefficient of stock (A) = 0.8







Given,
Weight of Debt(Wd) = 40% = 0.40
Weight of preferred stock (Wp) = 10% = 0.10
Weight of common equity (Ks) = 50% = 0.50
Current dividend (D0) = Rs.30
Growth rate (g) = 5% = 0.05
Current selling price (P0)= rs.280 per share
New common stock ( P1) = Rs.250 per share
Dividend (DPS)= Rs.14
Price (NP) = Rs. 95 per share
Interest rate (Kd) = 10%
Tax rate (T) = 30% = 0.30

a) Cost of Debt after tax (Kdt) = kd(1-T)
= 10%( 1-0.30)
= 7%

b) Cost of preferred stock (Kps) = DpS / NP



= 14/ 95
= 14.73%

c) Cost of Capital (Ks) = D1/p0 + g
= D0(1+g)/280 + 0.05
= 30(1.05)/280+0.05
= 16.25%

d) Cost of equity (Ke) = D1/Np +g
= 31.5/250 + 0.05
= 17.6%

.
B) WACC = Wd*kdt+Wp*Kps+Ws*Ke

=0.40*17.6% + 0.10*14.73%+0.50*17.6%
=

Given,
Weight of debenture (Wd) = 6/16 = 0.375
Weight of preference stock (Wp) = 2/16 = 0.125
Weight of common stock (Ks) = 8/16 = 0.5
Selling price for common stock (P0) = Rs.200
Last year dividend (D0) = Rs.20 per share
Growth rate (g) = 10%



Tax Rate ( T) = 40% = 0.40
Interest rate (kd) = 13%

a) Requirement :
WACC = Wd*Kdt+Wp*Kps+Ws*Ks

= 0.375*7.8%+0.125*8%+0.5*21%
= 14.425%

i) Cost of debt (Kdt) = Kd(1-T)
= 13% (1-0.40)
= 7.8%

ii) Cost of preferred stock (Kps) = 8%
iii) Cost of common stock (Ks) = D1/P0 + g

=D0(1+g)/P0 +g
=20(1+0.10)/200 + 0.10
= 0.21 or 21%

B) yes it is an appropriate and acceptable criteria for evaluating new investment proposal
because it has higher cost of common stock for return.



Given,

Selling price of common stock (P0) = Rs.70 per share

Expected dividend (D1) = 60% of 7.8
= Rs.4.68

EPS 2016 = EPS 2012 (1+g)^4
7.8 = 5.73 (1+g)^4

Or, 7.8/5.73 =(1+g)^4
Or, 1.36 = (1+g)^4
Or, 1.3613^1/4 = (1+g)^4*1/4
Or, 1.0802 = 1+g
Or, g =0.0802 or 8.0161%
Kd= 10%
Cost of debt (Kdt) = kd(1-T)

= 10%(1-.30)
= 7%

Cost of equity (Ks) = D1/P0 +g
=4.68 / 70 + 0.0802
= 0.1471 or 14.70%

Weight of debt (Wd) = 120/300 = 0.4
Weight of common stock (Ws) = 180/300 = 0.6

b) WACC = Wd*Kdt + Ws*Ks
=0.4*7%+0.6*14.70%
= 11.625%

Yes because it is higher than rate of return



c) Important

Bond valuation





Given.

Number of maturity (n) = 10 years
Par value ( M) = Rs.1000
Counpon interest © = 10%
Annual interest ( I ) = C*M or 10%*1000 = Rs.100
Require rate of return (KD) = 12%
V0?
V0 = I*PVIFAkd%,nyear+M*PVIFkd%,n year

= 100*PVIFA12%,10years + 1000*PVIF12%,10 years
= 100*5.6503+ 1000*0.3220
= Rs.887.02

B: Given,
Price (P0) = Rs.900
Yield to maturity?
1st step:
Appropriate YTM =



V0= I*PVIFAkd%,nyr+M*PVIFkd%,nyr



New Chapter Stock valuation – 12 marks

Formula:



D1= D0(1+g)
=20(1+.10) = 22

D2 = D1(1+g)
=22(1+.10) = 24.20

D3 = D2(1+g)
= 24.20(1+0.08) = 26.14

D4 = D3(1+g)
= 26.14(1+0.05) = 27.45

P3 = D4

Chapter 9: Working Capital Management 2 marks


